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1.1 ��	
����
	 �����	
��	����������	 

����������	
��
������
����
������������������������� ������ !���"#���$��%&
���
���� !����, ����������(��$�����, ����)������������, %�����!�%�*+$����,�� �������
���
����-�������-������"�& .
��������
����
���$#���������	�.%�����.+� /�!�*��.%�����
.+������$�
��#
��(��������%+ !���
! �)��,�
����
���$�%+ !���
!����	
�.
�	��,+�
+��	� �������
�����#%)���0,�*���������%+ !���
!�� !�,��-���������"���������*+$�����11�0	
� *"���
��0
�
!"���������
����
���,�	��������$�$�
!	�+���	��������.%���������.+� �2�� "���������

����
���� !�	��)���������"
�����-"�&���$�$�
!��+�������� 
����
�������3"���#�����	��������
��-��0��������
!�
��#
��(��������%+ !���
! *+$�����#%)���0,�*���������%+ !���
!	
� /�!�
��-��0�����3% ���-��0��+�4��
+������& (Lagrange points) ��!���� 

��
+������& % � ��
�
!
����
�������#�%+ !���
!������-��0���4��
����	
�������

��#
��(�� ����� !�������*��
��
�
���
�� 2 
�����$��+������&����4 �2�� �$��+������&
���
�����-"�&-.+� �3�$%-
�D��$E+���*��
��
�
��� 
�����-"�& *+$ .+� �
!��$�)��
!��
�
� *"�
��%�����F���-� ����

���
��������
!�
*��
��
�
��$�)�"������%+ !���
!�
� �� !�%���*����)��
!���
���� ����)���F��
!"���,��-G
��� ��-!�E+���*��
��
�
���
��
��� !�4����	�
��� 

 

1.2 ������ ����!���"	 �#$�% 

�� !����H�*+$��I�����,�E+�D+��������%+ !���
!�����"#�����-��0��+���

+������& ����JHK
� ��L���
!�2�E+���*��
��
�
���
����
�� 2 
�����$��+������&����4 �,�
�����#��-!��"-�E+�� !�������*��
��
�
���
��
��� !�4���$�����-�$������+����	�	
� �� !���-!�
%���*����)������%)���0,�+��H0$����%+ !���
!�����"#��
!�%+ !���
!������-��0��+���
+������&
�,�����-!����� 



                                                                                                                                                                

                                                                                                                                                                2 

 

1.3 ���������"	 �#$�% 

������-����
��$���H� ���,�E+�D+��2-��-�%��$,&�������%+ !���
!�����"#���
��-��0��+���
+������& 4L  /�!���F���
+������&����,+
!�� (Triangular Lagrange points) �
!�

��#
��(������
!��
 .
����H����$��+������&
�����-"�&-
���J,�� /�!���F�
���
!�
��+���
�
!��
 2 ���
��*�����$�����-�$������+ ���$��� 2 �-"- *+$�$�)������-!�E+���*��
��
�
���

��
��� !�4�����������%)���0�
� .
�	��%)����#��������� !�����,� ����*��
��
�
���
��
�� 

 

1.4 � �(%)�!����	*�+	$�,*- �� 

	
�E+�D+��������%+ !���
!�����"#�����-��0��+���
+������&����,+
!�� �
!�

%���*����)�������� ����� !������������-!�E+���*��
��
�
���
��
��� !�4����	� 

 

1.5 �#/�*�	��#�"	 �#$�% 

��-!����������H��JHK
� ��L�����
������"�&"���4 .
������
! ���*����1,�
��"#� 3 2-�� *+$�� !���������� �����������������*���)�+�������%)���0,�E+�D+�������
�%+ !���
!�����"#�����-��0��+���
+������&����,+
!�� �
!���E+���*��
��
�
���
��
��� !�����
	� 
����-G
����2-��-�%��$,& *+���)�����-�%��$,&E+�D+� *+$����E+�
!	
� 
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�����  2 

 

�012�345�6	� 

 

2.1 ���"
7��	�(�$  

,+����+���.%�� (orbital elements) % � ��-��0� ��L���
!�2��� !��)�,�
")�*,��� 
*+$���.%�����
���%��$,& /�!���$���	�
��� 

%��!�*����� (semi-major axis Ua V) 

%����� �������&�+��, %����
 (eccentricity U e V) 

�����
������$������.%�� (inclination of orbital plane U i V) 

+���-��
�����
��+�
�����-"�& (longitude of perihelion Uω V) 

�$�$��������
	"����� (position angle of ascending node U Ω V) 

��+��%+ !��E�����
��+�
�����-"�& (time of perihelion passage U τ V) 

%�����.%�� (orbital period UT V) 

 

 ����
! 2.1 ,+����+���.%�����
���%��$,& 
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�������
! 2.1 �,��$��� x-y ��F��$��������-� .
���
�)���-
����-��
 x-y-z �����
!
��
 F /�!���F���
.`���������.%���
!��F����
�
� .
��
��
 A ��F���
��+�
�����-"�&������.%�� 
����"�� NNc ��F����"�
����$������.%�� ��� �$��������-� �����
!��F�������$�"�����"�� 
NNc +�	��$��F������
!�����"��$��� 
��������
 N �3% ���
�
!
���%��$,&�%+ !���
!����"��$���E���
	�����,� ��$��� /�!���
����
�
���� ��
	"����� 

�� !��������.%����F����
���"����2�%��%��!�*����� (a ) *+$ %����� �������&�+�� 
( e ) ������)�,�
 ���
 *+$ �������������
���� 

�����
������$������.%�� ( i ) % �����$,�����$������.%�����
���%��$,& 
��� �$��������-� 

+���-��
�����
��+�
�����-"�& (ω ) �$��
���*���������"�� NNc 	������
��+�

��J�H& (��
 A) 

�$�$��������
	"����� ( Ω ) % �����
!��
���*�� x 	����*�������
	"�������
�$��������-� 

��+��%+ !��E�����
��+�
�����-"�& ( τ ) % ���+��
!�2������-���� 
���%��$,&�
��$
�%+ !���
!E�����
��+�
�����-"�&�� !��
 

%�����.%�� (T) �3% ���+��
!�2�������%+ !���
!%�������.%�� 
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2.2 "2��������� ! 

�����.%�����
���%��$,&�
4���
�����-"�&���$�����-�$ �$��F�	�"���K
����%��+��& (Keplercs Law) ���� /�!��K����%��+��&�
����,�
 3 ��� 	
�*�� 

1. �K������
 (Law of ellipse) 


���%��$,&�$.%�����
�����-"�&��F����
 .
��

�����-"�&�����
!��
.`�����

,��!�������
���� 

 

 

����
! 2.2 ���
 

 

�������
! 2.2 *�
�(�����
 AAc ��F�*����� (major axis) BBc ��F�*��.� 
(minor axis) ��
���$�$ CA ��� %��!�*����� (semi-major axis) *+$��
���$�$ CB ��� %��!�*��.� 
(semi-major axis) ��
 F *+$ Fc % ���
.`���������
 *+$�
��
 C ��F���
����&�+�� .
����
�$�
%��
%����
 ,� � %����� �������&�+�� *��
���"�����H� e  ��F�%���
!*�
�%����
������
���� %)���0	
�
�����"������%��������� CF "�� CA 

�-���0����.%�����.+����
�����-"�& 
�����-"�&�$�����
!��
 F ���0$�
!.+�
�$.%�����-������3���h-�� "��+�����
!*�
�	�� ��
 A ��
�������
��+� (perihelion) 
�����-"�& 
% ���
�
!.+��$.%����������+�
�����-"�&�
!��
 ������
 Ac ��
�������
	�+ (aphelion) 
�����-"�& 
% ���
�
!.+��$.%�����,������
�����-"�&����
!��
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2. �K���� ���
! (Law of areas) 

����"��&����
/�!�+�����
�����-"�&	����
���%��$,& �$���
� ���
!	�	
�������� 
��2�����+��
!������� 

 

     1b  

        2a  

            2b  

 

1a  
 

      ����
! 2.3 �K���� ���
! 

 

�������
! 2.3 �� !���
 S % �")�*,������
�����-"�& �-���0�����%+ !���
!���
��
�%��$,&
��,��!�����.%���
!��+�"���4��� #����+��
!�2�������%+ !���
!�����
 1a  	������
 2a  
������������+��
!�2�������%+ !���
!�����
 1b  	������
 2b  *+�� �$	
���� � ���
!��-��0 A �
���

�������� ���
!��-��0 B  

E+�
!	
�"�����3% � ��"����3������.%�����
�����-"�&���
���%��$,&	��%��
! 
.
��� !�
���%��$,&������+�
�����-"�& (2��� 1a 2a ) �$�%+ !���
!��3������0$����	�+���
�����-"�& 
(2��� 1b 2b ) 

 

3. �Kj��&���-� (Harmonic law) 

%�����.%�����
���%��$,&���)�+����� ��F���
����.
�"�����%��%��!�*�����
������.%�����)�+����� 

S
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%�����.%�� % ���+��
!
���%��$,&�2������.%�����
�����-"�&%��,��!���� 
/�!��3% �%�����.%�� (T ) ��,+����+���.%����!���� ����Kj��&���-��$*�
�	
���� 

32 aT ∝  

�����#,�%��%��
!������*��E���
� �)�,�����0
�
!�)�,�
�,����.%�����
��
�%��$,&���
�����-"�&��F����+� /�!�
�����-"�&�����
!��
����&�+��������.%����F����+��
� 

�������$�)�,�
�,�����
������.%����F����+��
%���������%��%��!�*����� (a ) �����0
�
!���
.%����F����
 .
��$�-���0����.%�����.+����
�����-"�& �,�.+��
��+ 1m  
�����-"�&�

��+ 2m  ,��������F��$�$ a  

�������,���
����&�+����+����$���
� *+��������
�)���-
���*�������-�	������

����&�+����+ �$	
�%���������G& 

2211 rmrm =      (2.1) 

�� !� 1r  % ��$�$�����
����&�+����+ (��
�)���-
) 	����.+� 

 2r  % ��$�$�����
����&�+����+ (��
�)���-
) 	����
�����-"�& 

/�!��$�$�����
����&�+����+	����.+� ������ �$�$�����
����&�+����+	����
�����-"�&�3% � 
�$�$,����$,���� .+� ��� 
�����-"�& ��!���� 

    arr =+ 21  

    12 rar −=  

*������	�������� (2.1) 

    )( 1211 ramrm −=  

    12211 rmamrm −=  

    
a

rmm
m 121

2

)( +
=     (2.2) 

�-���0�*���
!
�����-"�&��$�)�"��.+� 
2

21
1

a

mGm
F =  /�!�*���
�% �*���������&�+��
��� 
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������ 
1

2

11
1

r

vm
F =  *"� 

T

rπ
v 1

1

2
=  �$	
���� 

   
2

1

1

1

1

2

11

2

21
1

2








===

T

rπ

r

m

r

vm

a

mGm
F  

    
2

11

2

2

21 4

T

mrπ

a

mGm
=  

    
2

1

22

2

4

GT

raπ
m =      (2.3) 

*��%�� 2m  �������� (2.2) *+$ (2.3) 

2

1

22

121 4)(

GT

raπ

a

rmm
=

+  

3

21

2
2

)(

4
a

mmG

π
T

+
=     (2.4) 

*��%�� 
n

π
T

2
=  �� !� n  % ���"����3��2-����������.%�� 

    )( 21

32 mmGan +=     (2.5) 

�-���0�����0
�
! .+� .%����� 
�����-"�& /�!��2���+�������%+ !���
!%����� 1 �n *+$
�
�$�$,���������� 1 ���� (A.U.) *��+�������� (2.4) �$	
� 

   
)(

4
1

21

2

mmG

π

+
=  

��!��3% �#���2�,���������+���F� �n *+$,��������$�$�����F� ���� *+�� %��%��
! 
)(

4

21

2

mmG

π

+
 �$

�
%����F� 1 

 

2.3 �	�(�$  7��� � 

���.%��������
% � ���.%�������
/�!��%+ !���
!	� .
�E+�������$�$������
��
����	�#����
%��
! (��
.`���) ���������
 �
%��%��
!���� 
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 ����
! 2.4 ���.%��������
 

 

�������
! 2.4 �$�$ OA  % �%��!�*�����������.%��/�!�������� a  ��
 F  *+$ 
F ′  % ���
.`������� 2 ��
 *+$��
 P  ��F���
�
4�����
 ����-�������"���$	
���� PFFP ′+

�������%��%��
! ,� � rr ′+ �������%��%��
! 

����K���.%	/�& 

  θFFFPFFFPPF cos))((2)()()( 222 ′+′+=′   (2.6) 

�-���0�%�0����"-������
 

    
OA

OF
e =  

aeOF =  

aeOFFF 22 ==′  

*��+�������� (2.6) 

   θraeearr cos44 2222 ++=′     (2.7) 

*+$���%�0����"-������
 

     arr 2=′+  
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rar −=′ 2  

*��+�������� (2.7) �$��
��������	
���F� 

    
θe

ea
r

cos1

)1( 2

+
−

=      (2.8) 

/�!�������
�% � ��������
���$���-��
�2-����� �
!�)�,�
��
����&�+�������
!��
 F  

"��	��-���0����$���-��
D��.
��,���
 O  ��F���
�)���-
 �$	
� 

    222 )( yaexr +−=     (2.9) 

    222 )( yaexr ++=′     (2.10) 

�)������ (2.10) +�
�������� (2.9) 

    aexrr 422 =−′  

*��%�� rar ′−= 2  �$	
� 

    exar +=′  

�)��+��	�*��������� (2.10) *+����
��������	
���F� 

    1
)1( 22

2

2

2

=
−

+
ea

y

a

x  

    1
2

2

2

2

=+
b

y

a

x      (2.11) 

�� !� )1( 2eab −=  % � %���������%��!�*��.� 

/�!�������
�% � ��������
���$���-��
D����!���� 
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�����  3 

 

����	����� 3 )#5����$�	"�* 

 

3.1 "	 �"-����	����� 3 )#5����$�	"�* 

����1,���"#� 2 2-�� ���*��������� !�,�E+�D+��������%+ !���
!�����"#���F��-!�
�
!�����#�)�	
� *"��)�,�����1,���"#� 3 2-��/�!��
%���/��/������ ���)��,�	�������#�2����
*����1,��2-��-�%��$,& �� !��)����*��,�E+�D+��2-��-�%��$,&�����	
� ����)���F�"����
�����-!�
�� !��	�������������	� .
�����)�,�
�,���"#� 2 2-��*����F���"#��
���
 (Finite body) /�!�
�%+ !���
!��F����+������
����&�+����+�������%�� ��������)�,�
�,���"#�2-���
! 3 ��F���"#����
�+3� 
(Infinitesimal body) /�!��
��+��������� !���
�������"#� 2 2-��*�� .
��$��
����1,���"#� 3 2-���
!�

�����-!��� !��	��-��H����	��
���� ��1,���"#� 3 2-��*���)���
 (The restricted three-body problem) 

����)�,�
�,���"#�2-���
! 3 �
��+�������4�� !���
�������"#� 2 2-��*�� �)��,�
�����#"�
*��
��
�
�����"#�2-���
! 3 �
!�
"����"#� 2 2-��*���-��	�	
� ����,+ ���
��*��
��
�
�����"#� 
2 2-��*���
!��$�)�"�������� *+$��$�)�"����"#�2-���
! 3 ,� ��$�-���0�	
���� ��"#�2-���
! 3 ��F���"#�
���
�+3����4 �
!����������������.���#��������"#� 2 2-��*�� (��1,���"#� 2 2-��) ��"�������
�,"����0&�
!��-
������-� �2�� .+�.%�����
�����-"�& .
��

����
����F���"#�2-���
! 3 

������-���0���1,���"#� 3 2-��*���)���
���� �$�,���"#�2-��,��!�.%�������"#�
�
�2-��,��!���F����+� �2�� ����"-�,�.+�.%�����
�����-"�& ��F����+� *+������)�,�
�-��
���
���������-��D !�� .
��)�,�
�,���
�)���-
������������-� �����
!��
����&�+����+�����"#�������� 
���������"#����� 2 �3�$�%+ !���
!��F����+������
�)���-
 .
��)�,�
���������-�,��� /�!��
��

�)���-
�����
!��
����&�+����+�����"#���������2����� *+$���������-�,����
��3�$,���	���������
����%+ !���
!�����"#�������������
�)���-
 ��������� !�%����$
�������%)���0�$�)�,�
�,� 

- ��+�����"#����� 2 2-����������F� 1 

- �,���"#�2-���
! 1 �
��+��F� m−1  *+$ ��"#�2-���
! 2 �
��+��F� m  
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- �$�$,����$,������"#����� 2 2-����F� 1 

- ��"����3��2-����������������-�,���������� 1 

- %���-�.���#������+ (Gravitational Constant) ������� 1 

 

 

                   ����
! 3.1 ���������-������1,���"#� 3 2-�� 

 

�������
! 3.1 �)�,�
�,����������-� ZYX −−  ��F����������-��D !�� *+$ 
���������-� zyx −−  ��F����������-�,��� /�!�/������������� ����������������-�,��� 

zyx −−  �3�$,���	������������,��������"#�2-���
! 1 *+$ 2 �����
�)���-
 /�!��$,���
���
��"����3��2-���� n  .
���"#�2-���
! 1 �
��+ m−1  �����
!")�*,��� )0,0,( 1x  ��"#�2-���
! 2 �
��+ m  ����
�
!")�*,��� )0,0,( 2x  *+$��"#�2-���
! 3 �����
!��
 ),,( zyxP  /�!��$�$,����$,������+2-���
! 1 ��� 3 
*+$ �$�$,����$,������+2-���
! 2  ��� 3 �,���F� 1ρ  *+$ 2ρ  "��+)�
�� 

.
��
!  222

11 )( zyxxρ ++−=  *+$ 222

22 )( zyxxρ ++−=  
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�-���0����������%+ !���
!�����"#�2-���
! 3 �����������-��D !�� ZYX −−  .
��,�%����������
��"#�2-���
! 3 �����������-��D !�� ZYX −−  ������� kAjAiAA zyx

ˆˆˆ ++=
v

 �$	
� 

xA
dt

Xd
X ==

2

2

&&     (3.1) 

yA
dt

Yd
Y ==

2

2

&&      (3.2) 

zA
dt

Zd
Z ==

2

2

&&     (3.3) 

�-���0�%���������G&����-��
�����������-��D !�� ZYX −−  ��
����� ���������-�,���
zyx −−  	
� 

       ntyntxX sincos −=     (3.4) 

       ntyntxY cossin +=     (3.5) 

       zZ =       (3.6) 

,�������G&���
���
!,��!� *+$ ������G&���
���
!��� �������� (3.4), (3.5) *+$ (3.6) 

ntnyntyntnxntxX cossinsincos −−−= &&&      (3.7) 

ntnyntyntnxntxY sincoscossin −++= &&&      (3.8) 

zZ && =           (3.9) 

ntynntynntyntxnntxnntxX sincos2sincossin2cos 22 +−−−−= &&&&&&&&  (3.10) 

ntynntynntyntxnntxnntxY cossin2cossincos2sin 22 −−+−+= &&&&&&&&  (3.11) 

zZ &&&& =           (3.12) 

�)������ (3.10) %�0
��� ntcos  *+$����� (3.11) %�0
��� ntsin  *+���)��������� �$	
� 

ynxnxntYntX &&&&&&& 2sincos 2 −−=+    (3.13) 
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�)������ (3.10) %�0
��� ntsin  *+$����� (3.11) %�0
��� ntcos  *+���)���+���� �$	
� 

xnynyntXntY &&&&&&& 2sincos 2 +−=−    (3.14) 

�������� (3.1), (3.2) *+$ (3.3) �$�����#��
������� (3.13) *+$ (3.14) �,��	
���F� 

   xnynxntAntA yx

22sincos −−=+ &&&    (3.15) 

           ynxnyntAntA yx

22cossin −+=+− &&&    (3.16) 

"���� �-���0����������%+ !���
!�����"#�2-���
! 3 �����������-�,��� zyx −−  .
��,�
%������������"#�2-���
! 3 �����������-�,��� zyx −−  ��F� kajaiaa zyx

ˆˆˆ ++=
v  �$	
� 

xa
dt

xd
x ==

2

2

&&      (3.17) 

ya
dt

yd
y ==

2

2

&&      (3.18) 

za
dt

zd
z ==

2

2

&&      (3.19) 

�-���0�%���������G&���%������������"#������������-��D !�� ZYX −−  ��
���������
�����-�,��� zyx −−  	
� 

       ntantaA yxx sincos −=     (3.20) 

       ntantaA yxy cossin +=     (3.21) 

       zz aA =       (3.22) 

*�+�%���������G&�
�������������-�,��� zyx −−  ��
����� ���������-��D !�� ZYX −−  	
� 

       ntAntAa yxx sincos +=     (3.23) 

       ntAntAa yxy cossin +−=    (3.24) 

       zz Aa =       (3.25) 
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�)������ (3.23) *+$ (3.24) 	�*���� ����� (3.15) *+$ (3.16) "��+)�
�� �$	
� 

          xaxnynx =−− 22 &&&     (3.26) 

          yaynxny =−+ 22 &&&     (3.27) 

�-���0�*��
��
�
�����"#�2-���
! 1 *+$��"#�2-���
! 2 �
!��$�)�"����"#�2-���
! 3 �$�����#,������
����%+ !���
!	
���F� 

23

2

13

1

1ˆˆˆ ρ
ρ

m
ρ

ρ

m
kajaiaa zyx

vvv
−

−
−=++=   (3.28) 

.
��
!   222

11 )( zyxxρ ++−=    *+$   222

22 )( zyxxρ ++−=  

�$�����#*��*�������	
�
���
� 

   )()(
1

23

2

13

1

xx
ρ

m
xx

ρ

m
ax −−−

−
−=    (3.29) 

y
ρ

m
y

ρ

m
a y 3

2

3

1

1
−

−
−=     (3.30) 

z
ρ

m
z

ρ

m
a y 3

2

3

1

1
−

−
−=      (3.31) 

�)������ (3.26) *+$ (3.27) ��*��������� (3.29) *+$ (3.30) �$	
� 

  )()(
1

2 23

2

13

1

2 xx
ρ

m
xx

ρ

m
xnynx −−−

−
−=−− &&&   (3.32) 

y
ρ

m
y

ρ

m
ynxny

3

2

3

1

2 1
2 −

−
−=−+ &&&     (3.33) 

z
ρ

m
z

ρ

m
z

3

2

3

1

1
−

−
−=&&       (3.34) 

*"��
����)�,�
��"����3��2-����������������-�,���	��"���*"�"���,�������� 1 �3% ��,� 1=n  

�$	
����������%+ !���
!�����"#�2-���
! 3 �����������-�,��� zyx −−  ��F� 
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  )()(
1

2 23

2

13

1

xx
ρ

m
xx

ρ

m
xyx −−−

−
−=− &&&    (3.35) 

y
ρ

m
y

ρ

m
yxy

3

2

3

1

1
2 −

−
−=+ &&&      (3.36) 

z
ρ

m
z

ρ

m
z

3

2

3

1

1
−

−
−=&&       (3.37) 

�������� (3.35), (3.36) *+$ (3.37) �$,�E+�D+�������������%+ !���
!�
������	
� *"���F����
*��������2-�������G&�
!������� ���	
��
����-���`���&2���������,�� ��!�% � 

21

22 1
)(

2

1

ρ

m

ρ

m
yxU +

−
++=     (3.38) 

.
�`���&2�� U  �
��
2 !���� �-��-���+�����.%�
 (Jacobics integral) *+$�$	
� 

)()(
1

23

2

13

1

xx
ρ

m
xx

ρ

m
x

x

U
−−−

−
−=

∂
∂   (3.39) 

y
ρ

m
y

ρ

m
y

y

U
3

2

3

1

1
−

−
−=

∂
∂     (3.40) 

z
ρ

m
z

ρ

m

z

U
3

2

3

1

1
−

−
−=

∂
∂     (3.41) 

��������#��
������� (3.35), (3.36) *+$ (3.37) 	
��,����F� 

    
x

U
yx

∂
∂

=− &&& 2      (3.42) 

y

U
xy

∂
∂

=+ &&& 2      (3.43) 

z

U
z

∂
∂

=&&      (3.44) 

�)������ (3.42), (3.43) *+$ (3.44) %�0
��� x&2 , y&2  *+$ z&2  "��+)�
�� *+���)��������� �$	
� 

z

U
z

y

U
y

x

U
xzzyyxx

∂
∂

+
∂
∂

+
∂
∂

=++ &&&&&&&&&&&& 222222    (3.45) 
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,� � 

   
dt

dU
zyx

dt

d
2)( 222 =++ &&&     (3.46) 

�-��-���
����� (3.46) �$	
� ������-��-���+�����.%�
 �������F� 

         CUv −= 22      (3.47) 

�� !� v  % ���"����3������"#�2-���
! 3 

C  % �%��%��
!�������-��-���" 

 

3.2 ��-�(�-���	
� 8�97�%! 

����� (3.47) �����#���	
�����$����"#�2-���
! 3 �
�	
��
!�
 �� !�������"#��$
�����#����	
��D��$��-��0�
! 02 >v  ,� � CU >2  *+$	�������#����	
�����-��0�
! 02 <v  
,� � CU <2  �)�,�����-��0����*��������"������� 2 ��0
 �$��F���-��0�
!�)��,� 0=v  ,� � 

CU =2  �
2 !���
����� ����.%��%�����3�����& .
��� !��	��
!��� CU =2  *��%�� U  �������� 
(3.38) �$	
� 

C
ρ

m

ρ

m
yx =+

−
++

21

22 2)1(2   

�$��
����F� 

C
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�)������ (3.48) 	�*�
�E+��F����`�
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�
���������"#� .
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!	��	
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! 3.2 #�� 3.8 �,���
 1P  % ���"#�2-���
! 1 *+$��
 2P  % ���"#�2-���
! 2 .
��$
������� !�%�� C  ��+
!��	� �$�)��,�+��H0$�������.%��%�����3�����&��+
!��	�
��� 

�������
! 3.2 �� !�+
%�� C  +�������F�����
! 3.3 �$�)��,�����.%��%�����3�����& 2 
���������E�� (tangent) ����
!��
 1L  

�������+
%�� C  +�������F�����
! 3.5 �$�)��,�����.%��%�����3�����& 2 ������
���E������
!��
 2L  

�������+
%�� C  +�������F�����
! 3.7 �$�)��,�����.%��%�����3�����& 2 ������
���E������
!��
 3L  

*+$������ 3.8 �� !�+
%�� C  +�	��� !��4 �$�)��,�����.%��%�����3�����&���� 2 ����
%���4�+3�+���	����E������
!��
 4L  *+$ 5L  ���
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∂
∂
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    0=
∂
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−
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∂
∂

=+ &&&   
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    02 =− yx &&&      (3.53) 

    02 =+ xy &&&      (3.54) 

 �������
! 3.2 #�� 3.8 �� !��-���0���
�
!��-
������E������������.%��%�����3�����& 2 ���� 
����� �$�
��������,�
 5 ��
 /�!����� 5 ��
�
��3% � ��
+������& ��!���� 

 

3.3 $�*�	" ��$! 

�-���0���
+������&���� 5 �
!��-
���������E������������.%��%�����3�����& 2 ����
�� !�������
�������$��� xy  
�������-��
���*�� z  �����F�����& ���	�#�� 0== zz &&&  *+$
���
%����
!��F�����.%��%�����3�����&����)��,� 0=v  ,� ��3% � 0== yx &&   �� !��)�	�*��������� 
(3.53) *+$ (3.54) �$	
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�
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! 3.9 ��
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+������&��-
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������ .
� 3 
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��"��������*���

�������"#� 2 2-��*�� (*��*�� x ) �,�2 !������
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*+$ 3L  
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���E���
� 2 ��
�
!���
����� �����"����������
����������,+
!��
������� �
!�

�$�$,����$,������"#�2-���
! 1 *+$ 2 ��F�L���������,+
!�� �,�2 !������
+������& 4L  *+$ 5L  
.
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+������& 4L  *+$ 5L  �$�
2 !���
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+������&����,+
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�$�)�����-����&�����
+������& 4L  *+$ 5L  ��F���
�
!���"����������
������
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!��
������� �
!�
�$�$,����$,������"#�2-���
! 1 *+$ 2 ��F�L���������,+
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��-���0�
����� (3.50) �� !���"#������
!��
 4L  *+$ 5L  /�!����"�����*�� x  �)��,� 0≠y  
����������)� y  
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%�0����� (3.55) 
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   0
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   0
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*��%�� 112 =− xx  

   mx −=1       (3.60) 

   mx −= 12       (3.61) 

*��%���������� (3.60) +�������� (3.58)  

   0
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=+−
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m
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1
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      (3.62) 
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����� (3.62) *+$ (3.63) �$��F���-��� !� 11 =ρ  *+$ 12 =ρ  *+$����� !��	��
!�)�,�
	��"���*"�
"����� 112 =− xx  ��!�% � 2112 ρρxx ==−  �������	
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+������& 4L  *+$ 5L  ���"������
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������� �
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! 1 *+$ 2 ��F�L���������,+
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��$�)�����-�%��$,&��#
��(��*+$+��H0$�������%+ !���
!���
��"#���-��0��+���
+������& 1L , 2L  *+$ 3L  
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+������&�����
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 ),( 00 yx *+$��"#�������-��0��+�4�����
+������&.
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")�*,��������
!  

αxx += 0       (3.64) 

βyy += 0       (3.65) 

�� !� α  �
%���������� 0x  ���4 *+$ β  �
%���������� 0y  ���4 

,�������G&���
���
!,��!� *+$ ������G&���
���
!��� �������� (3.64) *+$ (3.65) 	
� 

   αx && =        (3.66) 

   βy && =        (3.67) 

αx &&&& =        (3.68) 

βy &&&& =        (3.69) 

�� !����� 0y 00 == &&x  *+$ 0y 00 == &&&&x  
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000 )()()( yyyxyy UβUαUU ++=     (3.71) 

�)������ (3.66) #�� (3.71) 	�*���� ����� (3.42) *+$ (3.43) �$	
� 

  000 )()()(2 xyxxx UβUαUβα ++=− &&&  

000 )()()(2 yyyxy UβUαUαβ ++=+ &&&  
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xyxx UβUαβα +=− &&& 2      (3.72) 
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���
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�-���0�`���&2�� U  �������� (3.38) 
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12 Λ−=λ      (3.82) 
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24 Λiλ −=      (3.84) 

E+�D+�������������+����F� 

  tλtλtλtλ
eAeAeAeAα 4321

4321 +++=    (3.85) 

  tλtλtλtλ
eBeBeBeBb 4321

4321 +++=    (3.86) 

�$�����#�-�%��$,&+��H0$����%+ !��.
��-���0������ (3.85) *+$ (3.86) 	
���� 

���&�
! 3 *+$ 4 �
!�
 λ  ��F��)�����-�"(�� *�
��������%+ !���
!�$��F�*����!�
�2-�%�� 

���&�
! 2 �
!�
 λ  ��F�%��+� *�
�#��%����
��#
��(��������%+ !���
!�� !���+�E���
	� ����$����%+ !���
!�$+�����������
���
�+ 

���&�
! 1 �
!�
 λ  ��F�%����� ��F����&�
!�
��1,� ����$�� !���+�E���	� ���
�%+ !���
!�
��$�-!�+�����	��������"& ��!��3% � ���&�
��)��,���-
%���	���
��#
��(��������%+ !���
!
��-��0��+�4��
��
�+��!���� 

��������#����	
���� ����%+ !���
!�����"#���-��0��+���
+������& 1L , 2L  *+$ 

3L  	���
��#
��(��������%+ !���
!������+���
��
�+���� �� !���+�E���	����4 ���0$�
!���
�%+ !���
!�����"#���-��0��+���
+������& 4L  *+$ 5L  �����$��F�����%+ !���
!�
!�
��#
��(�� 
���$
*�
��� ���
! 4 "��	� 

 

 

 

 



                                                                                                                                                                

                                                                                                              

35 

 

�����  4 

 

?��@�%���"	 ���4������� #��>="�-$�*�	" ��$!�����	����	
�����%
*-	���+	 

 

�� !���������%+ !���
!�����"#���-��0��+���
+������& 1L , 2L  *+$ 3L  ����	���

��#
��(�� �����
�����$�-���0�����%+ !���
!�����"#���-��0��+���
+������& 4L  *+$ 5L  /�!��

2 !���
���D��$��� ��
+������&����,+
!�� #��������
��#
��(��������%+ !���
!��-��0�����
���� �3
�$�)����,�E+�D+��������%+ !���
!�����"#���-��0��+���
+������&����,+
!���
� 
������
*����1,��2-��-�%��$,&�� 2 �-"- [1] 

�����+��	��-���0������ (3.38) ����0
��!�	��
!	��	
��)�,�
�,� ��+�����"#�
���� 2 2-����������F� 1 �$�$,����$,������"#����� 2 2-����F� 1 ��"����3��2-����������������-�,���
������� 1 *+$ %���-�.���#������+������� 1 �-��-���+�����.%�
 �$�������F� 

2

2

1

1222 )(
2

1

ρ

Gm

ρ

Gm
yxnU +++=    (4.1) 

*+$����� (3.42) *+$ (3.43) �� !��,� xU
x

U
=

∂
∂  *+$ yU

y

U
=

∂
∂  �$	
� 

            xUynx =− &&& 2      (4.2) 

            yUxny =+ &&& 2      (4.3) 

 

�$�-���0�����%+ !���
!�����"#��
�����-��0��+���
+������& 4L  .
���"#�2-��
�
! 1 *+$ 2 ���"��������*�� x  ������������-� YX −  *+$��
+������& 4L  ��������
��
���
�������,+
!��
�������/�!��

���*"�+$
��������������$�$,����$,������"#�2-���
! 1 ��� ��"#�2-���
! 2 

.
����������-� YX −  �
��
�)���-
�����
!��
����&�+����+�����"#�2-���
! 1 *+$ 2 
*+$�
!��
+������& 4L  /�!���F���
��
�+�3�$�
���"������������-� yx −  
��� /�!���
�)���-
���
���������-� yx −  �$�����
!��
 4L  
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�������
! 4.1 ��"#�2-���
! 1 *��
��� 1m  ��"#�2-���
! 2 *��
��� 2m  *+$��"#�2-���
! 3 
% ���"#��
��� .
��,�����"��& rv  ��F�����"��&���")�*,��������"#��
��� .
��
! 

rδrr
vvv

+= 0      (4.4) 

�� !����
�������"��&��� rδv �+3��������
�������"��& 0r
v  ���4 

.
��
! r
v  % � ����"��&�����
�)���-
������������-� YX −  	������"#��
��� 

 0r
v  % � ����"��&�����
�)���-
������������-� YX −  	������
+������& 4L  
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v  % � ����"��&�����
+������& 4L 	������"#��
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�)�,�
�,� jYiXr ˆˆ +=
v        (4.5) 

  jyixr ˆˆ
000 +=

v        (4.6) 

jyixrδ ˆˆ +=
v        (4.7) 


����������� (4.4) �����
��	
���F� 

    xxX += 0      (4.8) 

    yyY += 0      (4.9) 

,�������G&���
���
!,��!� *+$ ������G&���
���
!��� �������� (4.8) *+$ (4.9) 	
� 

    xX && =       (4.10) 

    yY && =       (4.11) 

xX &&&& =       (4.12) 

    yY &&&& =       (4.13) 

�� !����� 0y 000 === zx &&&  *+$ 0y 000 === zx &&&&&&  

 

�� !������-���0������������-� YX −  ����� (4.2) *+$ (4.3) �����
��	
���F� 

xUYnX =− &&& 2      (4.14) 

yUXnY =+ &&& 2      (4.15) 

 

��$�������� (4.14) *+$ (4.15) �����
 4L .
�*�� xxX += 0  *+$ 
yyY += 0  �������*��%���������� (4.10) #�� (4.13) *+���)������$������������&�+��&��� 

`���&2�� xU *+$ yU  �����
��
�+ 4L .
�	��%)����#���������
�� 2 ����	� 
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����� (4.14) �$	
���F� 

000002
)()()()(2)( xyxxx UyUxUyy

dt

d
nxx

dt

d
++=+−+  

00000 )()()()(2 xyxxx UyUxUyynxx ++=+−+ &&&&&&  

000 )()()(2 xyxxx UyUxUynx ++=− &&&      (4.16) 

���)�����

�������$�������� (4.15) �$	
� 

000 )()()(2 yyyxy UyUxUxny ++=+ &&&     (4.17) 

�� !� 
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∂
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)()( 23

2

2
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1

12 xx
ρ
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xx
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xnU x −−−−=      (4.18) 
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1
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y
ρ

Gm
y

ρ

Gm
ynU y 3

2

2

3

1

12 −−=        (4.21) 

xyyx Uyxx
ρ

Gm
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ρ
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U =−+−= )(

3
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3
25

2

2
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1

1     (4.22) 

2
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5

1

1
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2

2

3

1

12 33
y

ρ

Gm
y

ρ

Gm

ρ

Gm

ρ

Gm
nU yy ++−−=     (4.23) 

�������� (3.51) *+$ (3.52) �)��,��������%��������G&���`���&2�� U  ��
�����")�*,��� �
!��
          
+������&�
%����F�����& 


������   0)( 0 =xU       (4.24) 

   0)( 0 =yU       (4.25) 

"��	��$�)����*��%���� !���"#������
!��
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�� !�������
+������& 4L  ��F���
�
!"�����������
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����������,+
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���*"�+$
���
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�� !�%����$
���$�)�,�
"��*���,� 

anU xx == 2

0
4

3
)(         (4.26) 

bνnUU yxxy =−== )21(
4

33
)()( 2

00      (4.27) 

cnU yy == 2

0
4

9
)(         (4.28) 

 

�������,�
	�*��+�������� (4.16) *+$ (4.17) 

byaxynx +=− &&& 2      (4.29) 

cybxxny +=+ &&& 2      (4.30) 

�������� (4.29) *+$ (4.30) ������0$�
��������-���0���"#��
��������������-� YX −  
	
������������������-� yx −  /�!��
��
�)���-
�����
!��
+������& 4L  *�� ��!��3% �����-���0����
�%+ !���
!�����"#��
���.
������-������
+������& 4L  ��!���� 

�)�,�
�,�E+�D+���F� 

  tλAex =   tλBey =  

,�������G&���
���
!,��!� *+$ ������G&���
���
!��� �$	
� 

  xλAeλx tλ ==&  yλBeλy tλ ==&  

  xλAeλx tλ 22 ==&&  yλBeλy tλ 22 ==&&  

*��%��+�������� (4.24) *+$ (4.25) �$	
� 

byaxyλnxλ +=− 22  

cybxxλnyλ +=+ 22  
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��
����,��	
���F� 

0)2()( 2 =−−+− bλnyaλx  

0)2()( 2 =−+− bλnxcλy  

��
��������������-�/&	
���F� 

0
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
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  0
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2

=
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0)2)(2()( 224 =−+++−− bλnbλnacλcλaλ  

0)4()( 222224 =−++−− bλnacλcλaλ  

04 222224 =−++−− bλnacλcλaλ  

0)()4( 2224 =−+−−+ bacλcanλ  

*��%���������� (4.26) #�� (4.28) 

2
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3
na = , )21(

4

33 2 νnb −=  *+$ 2

4

9
nc =  

	
���� 0))21(
16
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9

4

3
()

4

9

4

3
4( 242222224 =−−⋅+−−+ νnnnλnnnλ  

0))441(
16
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( 244224 =+−−++ ννnnλnλ  

 0))(
4

27 24224 =−++ ννnλnλ  

 0)1(
4

27 4224 =−++ ννnλnλ  
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,�E+�D+���� 2λ  �����	
���F� 

  
2

)1(27 442

2 ννnnn
λ

−−±−
=  

( ))1(2711
2

1 22 ννnλ −−±−=  

( ))1(2711
2

1 2 ννnλ −−±−±=  

( ))1(2711
2

1
ννinλ −−±±=  

����$D$�����$	
� 

    11 ωiλ ±=      (4.31) 

    22 ωiλ ±=      (4.32) 

.
��
! 

  ( ))1(2711
2

1
1 ννnω −−+=     (4.33) 

  ( ))1(2711
2

1
2 ννnω −−−=     (4.34) 


������E+�D+��������� (4.29) *+$ (4.30) % � 

  tωitωitωitωi
eAeAeAeAx 2211

4321

−− +++=    (4.35) 

  tωitωitωitωi
eBeBeBeBy 2211

4321

−− +++=    (4.36) 

�����������&�$�
%�� ω  ��F��)�����-�"(������,�
 �������	
��������%+ !���
!�����"#���-��0��+�
��
+������&����,+
!���
� �
��#
��(����!���� 
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"��	��$�)����,�E+�D+��������%+ !���
!�
������ 
����-G
����2-��-�%��$,& �� !�
%����$
�������%)���0 �$�)����,���*��������������-� yx −  	���F� ** yx −  .
�
,���	���F���� α  
������
! 4.3 �$	
�%���������G& 

αyαxx sin*cos* −=     (4.37) 

αyαxy cos*sin* +=     (4.38) 
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! 4.3 ���,������������-�	���F���� α  
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22

0
2
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2

1
cybxyaxUU +++=     (4.39) 

�� !� 2

4

3
na = , )21(

4

33 2 νnb −=  *+$ 2

4

9
nc =  

 

�������� (4.37) *+$ (4.38) 

αyααyxαxx 22222 sin*sincos**2cos* +−=     (4.40) 

αyααyxαxy 22222 cos*cossin**2sin* ++=     (4.41) 

ααyαxyαyxααxxy cossin*sin**cos**sincos* 2222 −−+=   (4.42) 

*������� (4.40), (4.41) *+$ (4.42) +�������� (4.39) 

αayααyaxαaxUU 2222

0 sin*
2

1
sincos**cos*

2

1
+−+=  

        ααbyαxbyαybxααbx cossin*sin**cos**sincos* 2222 −−++  

        αcyααycxαcx 2222 cos*
2

1
cossin**sin*

2

1
+++  

�2�%���������G&���"�
.�0�-"- 

 ααα 2sin
2

1
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2

1
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,� ���
����F� 

22

0 **
2

1
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2

1
ycyxbxaUU +++=    (4.43) 

�� !� αbαcacaa 2sin2cos)(
2

1
)(

2

1
* +−++=     (4.44) 

 αacαbb 2sin)(
2

1
2cos* −+=      (4.45) 

 αbαcacac 2sin2cos)(
2

1
)(

2

1
* −−−+=     (4.46) 

.
��
! 2

4

3
na = , )21(

4

33 2 νnb −=  *+$ 2

4

9
nc =  

��
��$��%&�����,���*�������-�	���F���� α  �3�� !��$,���� α  �
!���%���,�%�� 0* =b  ��!���� 

���   αacαbb 2sin)(
2

1
2cos* −+=  

#�� 0* =b  �$	
���� 

   02sin)(
2

1
2cos =−+ αacαb  

ca

b
α

−
=

2
2tan      (4.47) 

*+$�$	
�   
D

b
α

2
2sin =      (4.48) 

    
D

ca
α

−
=2cos     (4.49) 

�� !� 22 4)( bcaD +−=  

 

*��%�� a , b  *+$ c  �������� (4.26) #�� (4.28) +�������� (4.47) 
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4
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4

3
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2

33

2
2tan

nn
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b
α

−

−
=

−
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  )21(32tan να −−=       (4.50) 

  [ ])21(3tan
2

1 1 να −−= −      (4.51) 

�� !� 
21

2
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m
ν

+
=  

 

�����������-� yx −  /�!��
%�� 22

0
2

1

2

1
cybxyaxUU +++=  �����#�
!�$,���������

�%+ !���
!�����"#��
��������	
�"������� (4.29) *+$ (4.30) 

byaxynx +=− &&& 2  

cybxxny +=+ &&& 2  

 


������ �����������-� ** yx −  /�!��
%�� 22

0 **
2

1
*****

2

1
ycyxbxaUU +++=  ���

�����#,����������%+ !���
!�����"#��
��������	
���F� 

*****2* ybxaynx +=− &&&  

*****2* ycxbxny +=+ &&&  

 

*"�(���"����������-� ** yx −  �
� %�� 0* =b  
������ 

***2* xaynx =− &&&      (4.52) 

***2* ycxny =+ &&&      (4.53) 
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  )cos()cos(* 222111 γtωAγtωAx +++=    (4.68) 

)sin()sin(* 222111 γtωBγtωBy +++=    (4.69) 
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
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�����  6 

 

"	 ��	��> �#�� 	��!�-�
7� ���� ��?� 

 

6.1 "	 ���4������� #��>$�*�	" ��$!�	
�����%
�
4��,
+��	�B�"	  �"��$	"������4�� 

�$,�E+�D+��������%+ !���
!�����"#���-��0��+���
+������&����,+
!�� 4L  
.
�������-����
��$�-���0����$�����
�����-"�&*+$
���J,�� /�!�	
�,�E+�D+�������
�%+ !���
!�
���*+�������
! 4 
���
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αyαxx sin*cos* −=     (4.37) 

αyαxy cos*sin* +=     (4.38) 

����� (4.37) *+$ (4.38) % �E+�D+��������%+ !���
!�
� 

�� !� 

  )cos()cos(* 222111 γtωAγtωAx +++=    (4.68) 

)sin()sin(* 222111 γtωBγtωBy +++=    (4.69) 
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.
��
! 

i

i

i

i

ωn

aω

A

B

2

*
2 +

−=      (4.72) 
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22 72.18 AB −=        (6.7) 
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0014.0tan 1 −=γ  
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�)� 0014.01 −=γ  	�*��������� (6.11) 
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1 100309.3 −×−=A ����      (6.14) 

�������� (6.6) 
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1 100682.6 −×=B ����      (6.15) 

�)������ (6.12) ,��
�������� (6.10) 

0133.0tan 2 −=γ  

 0133.02 −=γ ���

��       (6.16) 

�)� 0133.02 −=γ  	�*��������� (6.12) 
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2 100517.4 −×=A ����      (6.17) 

�������� (6.7) 

 3

2 108478.75 −×−=B ����      (6.18) 

 

*��%������,�
+�������� (4.83) *+$ (4.84) 

[ ])0133.00424.0cos(0517.4)0014.05267.0cos(0309.310* 3 −+−−= − ttx  

          (6.19) 

[ ])0133.00424.0sin(8478.75)0014.05267.0sin(0682.610* 3 −−−= − tty  

          (6.20) 

*������� (6.19) *+$ (6.20) +�������� (4.37) *+$ (4.38) �� !�,�E+�D+��������%+ !���
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)5232.0sin(*)5232.0cos(* −−−= yxx    (6.21) 
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)5232.0cos(*)5232.0sin(* −+−= yxy    (6.22) 
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+������& 4L ���$�����
�����-"�&*+$
���J,�� .
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���*�������-������
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+������& 4L  	
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! 6.1 

 

"�����
! 6.1 ����%+ !���
!�����"#���-��0��
+������& 4L �� !�	��%)���������������
������& 

 
��+� 
(�n) 

�$�$*�� x  
(����) 

�$�$*�� y  
(����) 

10 - 0.0158721 - 0.0317641 
20 - 0.0272697 - 0.0554295 
30 - 0.0326523 - 0.0651380 
40 - 0.0340510 - 0.0617797 
50 - 0.0324992 - 0.0500083 
60 - 0.0266370 - 0.0335740 
70 - 0.0144996 - 0.0130824 
80 0.0032916 0.0119303 
90 0.0221922 0.0390405 

100 0.0358591 0.0614667 
200 - 0.0362900 - 0.0576737 
300 - 0.0009687 - 0.0060771 
400 0.0366823 0.0602830 
500 - 0.0335545 - 0.0473614 

1000 0.0338956 0.0617750 
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� 
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 929.111 =T  �n *+$ 188.1482 =T  �n /�!� 1T  �3% � %����%&��$����2-����� *+$ 2T  �3% �  

%����%&��$����2-������!���� 

"��	��$�2�.��*��� MATHEMATICA 6.0 �������������`�������%+ !���
! 
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ˆˆ +=
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! 6.6 ���`*�
�����%+ !���
!��-��0��
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! 6.8 ���`*�
�����%+ !���
!��-��0��
+������& 4L "���*"���+� =t 301 #�� =t 450 �n 
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! 6.1 #�� ����
! 6.5 *�
�����%+ !���
!��-��0��
+������& 4L  "���*"���+� 50 
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! 6.6 #�� ����
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%����$��0���%����%&��$����2-�����������%+ !���
!�
� �$�,3��������%+ !���
!�����4 150 �n 
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+��H0$��+��%
����� /�!�*�
�#��%����%&��$����2-���� �
!�
%����$��0 150 �n��!���� 

�������
! 6.10 #�� ����
! 6.13 *�
�����%+ !���
!��� 12 �n /�!�%���
��3% �%����$��0
���%����%&��$����2-������������%+ !���
! �$�,3���������4 12 �n�$�
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!��%�����
����-
��F��� 1 �� ���������� /�!��
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E xδxδxδ +=     (6.23)   
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
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)1(

0

)0(

00 yyy +=     (6.26) 
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)1(

0

)0(

00 xxx vvv +=     (6.27) 
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0

)0(

00 yyy vvv +=     (6.28) 
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2 10899.1 ×=m �-.+���� 1
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ia

a
A =  
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�������� (5.17) �
!��� ( )nnm i −=  
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����,����� 6.1 *"��� !��	���-!�"����� 
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3
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3
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3
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� 

3

02

2

2

1

02

2

2

1

2

2
11 100242.4

2*
cos −×=

−
−

−

+
−= yv

ωω

n
x

ωω

aω
γA ����  (6.37) 



                                                                                                                                                                

                                                                                                              

107 

 

3

02

2

2

1

02

2

2

1

2

1
22 109329.7

2*
cos −×−=

−
+

−

+
= yv

ωω

n
x

ωω

aω
γA ����  (6.38) 
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7566.0tan 1 =γ  

 6477.01 =γ ���
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E xδxδxδ +=  *+$ )1()0(

E yδyδyδ +=  	
���F� 

 

( tttxδ 9453.0cos0145.06302.0cos3980.03151.0cos0327.210 3

E +−−= −  

ttt 6302.0sin1553.03151.0sin6057.52604.1cos0289.0 +−+  

)tt 2604.1sin0063.09453.0sin0879.0 ++     (6.53) 

 

( tttyδ 9453.0cos0774.06302.0cos6151.03151.0cos7589.410 3

E ++= −  

ttt 6302.0sin0747.03151.0sin7428.62604.1cos0063.0 ++−  

)tt 2604.1sin0338.09453.0sin0810.0 −−     (6.54) 
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"�����
! 6.2 ����%+ !���
!�����"#���-��0��
+������& 4L �� !�%)���������������
������& 

 
��+� 
(�n) 

Lxδ  
(����) 

Exδ  
(����) 

Lyδ  
(����) 

Eyδ  
(����) 

10 0.03563810 0.00170248 0.06632540 - 0.00428830 
20 0.06108870 - 0.00248085 0.11361400 0.00556623 
30 0.07127970 0.00180902 0.13452100 - 0.00440921 
40 0.06870810 - 0.00257342 0.12562700 0.00568462 
50 0.05826250 0.00191524 0.09444880 - 0.00452897 
60 0.04216080 - 0.00266490 0.05248450 0.00580021 
70 0.01920820 0.00202110 0.00751720 - 0.00464753 
80 - 0.01115940 - 0.00275526 - 0.03809490 0.00591299 
90 - 0.04439360 0.00212658 - 0.08252930 - 0.00476485 

100 - 0.07085290 - 0.00284452 - 0.11890000 0.00602293 
200 0.06788270 - 0.00327363 0.10053900 0.00652995 
300 0.00526760 - 0.00367302 0.02470630 0.00696545 
400 - 0.06977660 - 0.00404089 - 0.11803800 0.00732955 
500 0.05774720 - 0.00437525 0.07802860 0.00762291 

1000 - 0.06861250 - 0.00547081 - 0.12703600 0.00806095 
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<	�?��" " 

 

" >������)#5���� 4 
���(�$ ������ � 

 

����0
�
!��"#�2-���
! 4 �
!���E+�����"������%+ !���
!�����"#��
�����-��0��+�
��
+������& 4L  �
��.%����F����
�,� �����$�����-�$��-�4���� �$"����)���������������,�%��
"���4�����"#�2-���
! 4 ����
-��
!�)�,�
�,� ��"#�2-���
! 4 .%�������"#�2-���
! 1 ��F����+� �$"���
��+
!����F� ��"#�2-���
! 4 .%�������"#�2-���
! 1 ��F����.%��������
 .
��
��"#�2-���
! 1 "��������
!��

.`��������
,��!�������
����
������
! 2.2 ���0$�
!���%��,���"#�2-���
! 2 .%�������"#�2-���
! 1 ��F�
���+��2���
-� ����$��F��� !��	��
!�)���F������*����1,���"#� 3 2-��*���)���
�����
! 3 *+$���
,�E+�D+��������%+ !���
!��-��0��+���
+������&���%)�"������,+
!��
������������
! 4 
������
�������� (5.13) 
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)0(2

Li

Li
i

rr

rr
Gm

dt

rδd
vv

vvv

−

−
=  

%���
!�$��+
!��	��3% � ����"��&���")�*,��������"#�2-���
! 4 ( )ir
v  ���0$�
! ����"��&���")�*,���

�����
+������& 4L  ( )Lr
v  ���%��
%���,� ���
-� 

�������-���0��$�����-�$ .
��)�,�
�,���"#�2-���
! 1 % �
�����-"�& �$�����
���������-������"#�2-���
! 4 �$��F�%�+$����������������-��
!�2������
! 5 "������
! 5.1 
�� !��������.%��������
���
���%��$,&*"�+$
�����$�����-�$�3�$�
���������-�������.%��
�
!�)����"������	� .
��$�����#�����-�����
!�)�"������	�������������-����
���%��$,&"���4�
� 
	
�����$��������-��
!�2������,�,+����+���.%����!���� *+$
�������-���0��$�����-�$�� 2 
�-"- (�� !���������-����
��-���0����$��� 2 �-"-) �)��,������������
!���������-����
���%��$,&
*"�+$
����$�)�����$��������-��
!�2������,�,+����+���.%���3% � %��+���-��
�����
��+�
��
���-"�& /�!���F�,+����+���.%��"��,��!��
!	
��+���	�������
! 2 ��!���� 

����$�� !��-���0��$�����-�$�� 2 �-"-*+�� *�������
.`���������.%�����
���
���
���%��$,&	������
��+�
��
�����-"�&�$#���)�,�
�,���F�*�� x  ������������-����
�$��
�����-"�&���
���%��$,&
������ *+$%��+���-��
�����
��+�
�����-"�& �3% � ����$,����
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*�������
	"��������*�� x  ������������-� /�!���-�4����-���0��� 2 �-"-�$	���
��
	"����� 
������
����)�,�
�,�*�������
	"�������F�*�� x  ������������-�����$��������-��
!�2������,�,+��
��+���.%�� 

 

 

 

 

 

 

 

 

            ����
! �.1 +���-��
�����
��+�
�����-"�& 

 

������ �.1 *�� 0x % �*�� x  ����$��������-��
!�2������,�,+����+���.%�� 
���������-� yx −  % ����������-��
!�2������
! 5 "����� 5.1 *+$���������-� ii ηε −  % �����
�����-�������.%����F����
�����"#�2-���
! 4 �����"#�2-���
! 1 

.
��
! 2ω  % �%��+���-��
�����
��+�
�����-"�&�����"#�2-���
! 2 

 4ω  % �%��+���-��
�����
��+�
�����-"�&�����"#�2-���
! 4 

 iω  % �����
!���������-� ii ηε −  ��$�)�������������-� yx −  

/�!������� �.1 �$����� 

24 ωωωi −=      (�.1) 
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�)�,�
�,��-��
�����"#�2-���
! 4 �����������-� ii ηε −  ��F� ( )ii ηε ,  *+$�,��-��

�����"#�2-���
! 4 �����������-� yx −  ��F� ( )ii yx ,  /�!� ( )ii yx ,  �
��3% ��-��
�������"��&���
")�*,��������"#�2-���
! 4 ��!�% � jyixr iii

ˆˆ +=
v  �� !��)�	��2�������� (5.13) ��!���� 


������ ir
v  ���"����)����,������������-���� ii ηε −  ������������������-� yx −  

��
����� ���	
� 

ωηωεx iii sincos −=    (�.2) 

ωηωεy iii cossin +=    (�.3) 

��������-���0���.%��������
�����"#�2-���
! 4 �����"#�2-���
! 1 .
��
��"#�2-���
! 1 
"��������
!��
.`��������
,��!�������
 �����������-� ii ηε −  /�!��
��
�)���-
�����
!��
.`�����
�
!��"#�
2-���
! 1 "��������� !��$	
��2�����������������-� yx −  ������
! 5.1 	
� 

 

 

 

 

 

 

 

 

 

 

����
! �.2 ���.%��������
�����"#�2-���
! 4 
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�������
! �.2 *�
����.%��������
�����"#�2-���
! 4 /�!�*��
��� im  *+$�
�-��

�����
! ( )iii ηεr ,

v  .
����������-��
��$�
��
�)���-
�����
!��
 F  /�!���F���
.`�����
�
!��"#�2-���
! 1 "������� 
�)�,�
�,��$�$�$,������
 C  �����
 A  ������� ia  �� !� ia  % ��$�$%��!�*�����������
  �$�$
�$,������
 C  �����
 D  ������� ib  �� !� ib  % ��$�$%��!�*��.�������
 *+$���������H�����"-
�������%0-"������
�$������$�$�$,������
 C  �����
 F  �
%����������$�$%��!�*�����������

%�0���%����� �������&�+��������
���� ���	�#����"����������$�$�$,������
 G  ��� im  ��
��
����$�$�$,������
 G  �����
 E  �$���������"��������� ib  "�� ia  
��� [3] 

���������������+�������$/�!��
����
������� ia  ������+���������.%��������

.
��,�/��������


������
! �.2 *+��+��������$���*�� iε  ����	�E�����
 im  	���#�����+�
������$ 
�������$�$�$,������
 C  �����
 E  �����������$�$%��!�*�����������

��� *+$����
!
����"�� CE  ��$�)����*�� iε  �
��3% �������
�� ��� (eccentric anomaly) /�!���F�����
!�$�2������-�
�-��
��� ( )ii ηε ,  ��!���� 


�������$	
� 

eauaε iiii −= cos      (�.4) 

iii ubη sin=       (�.5) 

)cos1( iii uear −=      (�.6) 

�� !� ia  % ��$�$%��!�*����������"#�2-���
! 4 

 ib  % ��$�$%��!�*��.������"#�2-���
! 4 

iu  % �������
�� ��������"#�2-���
! 4 

e  % �%����� �������&�+��������.%�������"#�2-���
! 4 

 

*"����������H�����"-�������%0-"������
 [3] ����� 21 eab ii −=  
����������� (�.5) 	
� 

iiiii ueaubη sin1sin 2−==    (�.7) 
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"��	��$��F�����)��,�%����� iε  *+$ iη  ���������+� �� !��$	
��)�	��-��-���"	
� 
.
��
!������
�� ����$��F�%���
!	��	
����������+����"�����+
!���,���F�������
�D+
!� (mean anomaly) 
/�!����������+� .
�������
�D+
!��$�
%����F� mtli =  �� !� t  % �2�����+��
!�2�.%�� *+$ m  % �
��"����3��2-����������.%�������"#�2-���
! 4 ��
��������������-� yx −  �2���

����� il  �
!��F����
�
!����"��& ir

v  ��$�)����*�� x  ������������-������
! 5 ��!���� 

/�!�%���������G&�$,����������
�� ������������
�D+
!��$��F�
���
� [4] 
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! 4 �
��

.%����F����+������
! 5 �$�
%��"������� (5.24) 

1

0
33

)(
11

−
∞

=







′=
−

∑
n

in

n

iLi
a

a
xP

arr
vv

  

*"�����0
�
!��"#�2-���
! 4 �
��.%����F����
�$��
����F�	
���F� 

1

0
33

)(
11

−
∞

=







′=
−

∑
n

i

L

n

n

iLi
r

r
xP

rrr
vv

   (�.12) 

�� !� ir
v  % �����"��&���")�*,��������"#�2-���
! 4 

Lr
v  % �����"��&���")�*,��������
+������& 4L  

*+$ iSx cos=   

�� !� iS  % �����$,��������"��& ir
v  *+$����"��& Lr

v  

.
��������
! 5.2 ��������
�������"��& Lr
v  �$�
%��������� a  �� !� a  % �

�$�$,����$,������"#�2-���
! 1 �����"#�2-���
! 2 /�!�����0
�
!��"#�2-���
! 2 .%�������"#�2-���
! 1 ��F�
���+��$�,��
%����������$�$%��!�*����������"#�2-���
! 2 ��!���� 
������ 

arL =      (�.13) 

�� !� a  % ��$�$,����$,������"#�2-���
! 1 �����"#�2-���
! 2 

�������� (�.6) 

)cos1( iii uear −=  


������    
( )iii uear cos1

11

−
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��������$����,���� 
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�$�����#��$�������� (�.14) 	
���F� 
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1
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−
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��������-���0� iSx cos=  �� !� iS  % �����$,��������"��& ir
v  *+$����"��& Lr

v  
/�!����0$�
����
��	
������"#�2-���
! 4 �$,���������������-� ii ηε −  
�����"����3��2-���� m  *+$
���������-� ii ηε −  �)����������������-� yx −  ��F���� iω  "������
! �.1 ��!�% �����"��& ir

v  �$
�)�������*�� x  ������������-� yx −  ��F���� ii ωmtl +=  ���0$�
!����"��& Lr

v  �$�)���� 60 
�������*�� x  ������������-�
���
!�-���0���*+�������
! 5 
�������
! 5.2 
������ 

    60−+= ii ωmtS  

��!�% � 

    )60cos( −+= iωmtx     (�.17) 
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! 4 �
��.%����F����
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(� �" 
 MATHEMATICA 6.0 

 

������-����
�	
��2�.��*��� MATHEMATICA 6.0 �� !�2���%)���0�������
 ���
	
���.��*����
!	
���
�������� !�%)���0 .
������
!��F�"��,��% �"��.��*����
!��
���� !��)����
%)���0 *+$"�����% �E+�
!	
�������%)���0���� 

 

.��*��� 1 

SeriesAHCos@m ∗tD −A ∗Cos@π ê3DL∗

SumA∂x LegendreP@i, xD∗Ai−1, 8i, 1, 5<E, 8A, 0, 3<E
Cos@m tD+ K−

1

2
+ 3 x Cos@m tDO A+

3

2
I−x − Cos@m tD+ 5 x2 Cos@m tDM A2 +

1

4
I3− 15 x

2
−30 x Cos@m tD + 70 x

3
Cos@m tDM A3 + O@AD4 ê.

x −> Cos@m ∗t −60 °D
Cos@m tD+ K− 1

2
+ 3 Cos@m tD Sin@30 °+ m tDO A +

3

2
I−Cos@m tD − Sin@30 ° + m tD+ 5 Cos@m tD Sin@30 ° + m tD2M A2 +

1

4
I3− 30 Cos@m tD Sin@30 ° + m tD −

15 Sin@30 °+ m tD2 + 70 Cos@m tD Sin@30 ° + m tD3M A3 + O@AD4  

�2������%)���0,������ (5.32) 
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.��*��� 2 

‡ KCos@m tD+ K−
1

2
+ 3 Cos@m tD Sin@30 ° + m tDO A +

3

2
I−Cos@m tD − Sin@30 ° + m tD+ 5 Cos@m tD Sin@30 ° + m tD2M A2 +

1

4
I3− 30 Cos@m tD Sin@30 ° + m tD − 15 Sin@30 ° + m tD2 +

70 Cos@m tD Sin@30 ° + m tD3M A3 + O@AD4O 	t

Sin@m tD
m

+
t

4
−
3 3 Cos@2 m tD

8 m
+
3 Sin@2 m tD

8 m
A −

1

16 m

J3 3 Cos@m tD + 5 3 Cos@3 m tD − 9 Sin@m tD+ 5 Sin@3 m tDN A2 +

9 t

32
−
15 3 Cos@2 m tD

64 m
+
5 Sin@2 m tD

64 m
−
35 Sin@4 m tD

64 m
A
3

+ O@AD4 ê.
t → 0

−
3 3 A

8 m
−

3 A
2

2 m
−
15 3 A

3

64 m
+ O@AD4

 

�2������%)���0,������ (5.33) ���������,�%���� !��	���-!�"��������� (5.68) 
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.��*��� 3 

· Sin@m tD
m

+
t

4
−
3 3 Cos@2 m tD

8 m
+
3 Sin@2 m tD

8 m
A −

J3 3 Cos@m tD + 5 3 Cos@3 m tD − 9 Sin@m tD+ 5 Sin@3 m tDN A2
16 m

+

9 t

32
−
15 3 Cos@2 m tD

64 m
+
5 Sin@2 m tD

64 m
−
35 Sin@4 m tD

64 m
A
3

+ O@AD4  

	t

−
Cos@m tD

m2
+

Km t2 −
3 Cos@2 m tD

2 m
−

3 3 Sin@2 m tD
2 m

O A
8 m

−

K 9 Cos@m tD
m

−
5 Cos@3 m tD

3 m
+

3 3 Sin@m tD
m

+
5 Sin@3 m tD

3 m
O A2

16 m
+

K9 m t2 −
5 Cos@2 m tD

2 m
+

35 Cos@4 m tD
4 m

−
15 3 Sin@2 m tD

2 m
O A3

64 m
+ O@AD4 ê.

t → 0

−
1

m2
−

3 A

16 m2
−
11 A

2

24 m2
+

25 A
3

256 m2
+ O@AD4

 

�2������%)���0,������ (5.34) ���������,�%���� !��	���-!�"��������� (5.69) 
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.��*��� 4 

SeriesAHSin@m ∗tD −A ∗Sin@π ê3DL∗

SumA∂x LegendreP@i, xD∗Ai−1, 8i, 1, 5<E, 8A, 0, 3<E
Sin@m tD+ −

3

2
+3 x Sin@m tD A −

3

2
J 3 x+ Sin@m tD − 5 x

2
Sin@m tDN A2 +

1

4
J3 3 − 15 3 x2 − 30 x Sin@m tD + 70 x3 Sin@m tDN A3 +O@AD4 ê.

x −> Cos@m ∗t −60 °D
Sin@m tD+ −

3

2
+3 Sin@m tD Sin@30 ° + m tD A −

3

2
JSin@m tD+ 3 Sin@30 ° + m tD −5 Sin@m tD Sin@30 ° + m tD2N A2 +

1

4
J3 3 − 30 Sin@m tD Sin@30 ° + m tD −

15 3 Sin@30 ° + m tD2 + 70 Sin@m tD Sin@30 ° + m tD3N A3 +O@AD4  

�2������%)���0,������ (5.35) 
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.��*��� 5 

‡ Sin@m tD+ −
3

2
+3 Sin@m tD Sin@30 ° + m tD A −

3

2
JSin@m tD+ 3 Sin@30 ° + m tD −5 Sin@m tD Sin@30 ° + m tD2N A2 +

1

4
J3 3 − 30 Sin@m tD Sin@30 ° + m tD −15 3 Sin@30 ° + m tD2 +

70 Sin@m tD Sin@30 ° + m tD3N A3 + O@AD4  	t

−
Cos@m tD

m
+
1

4
3 t −

3 Cos@2 m tD
2 m

−
3 3 Sin@2 m tD

2 m
A −

3

2

5 Cos@m tD
8 m

−
5 Cos@3 m tD

24 m
−

3 Sin@m tD
8 m

+
5 Sin@3 m tD
8 3 m

A2 +

1

32
9 3 t−

25 Cos@2 m tD
2 m

+
35 Cos@4 m tD

2 m
−
15 3 Sin@2 m tD

2 m
A3 +

O@AD4 ê. t → 0

−
1

m
−
3 A

8 m
−
5 A

2

8 m
+
5 A

3

32 m
+ O@AD4

 

�2������%)���0,������ (5.36) ���������,�%���� !��	���-!�"��������� (5.70) 
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.��*��� 6 

‡ −
Cos@m tD

m
+
1

4
3 t −

3 Cos@2 m tD
2 m

−
3 3 Sin@2 m tD

2 m
A −

3

2

5 Cos@m tD
8 m

−
5 Cos@3 m tD

24 m
−

3 Sin@m tD
8 m

+
5 Sin@3 m tD
8 3 m

A
2

+

1

32
9 3 t−

25 Cos@2 m tD
2 m

+
35 Cos@4 m tD

2 m
−
15 3 Sin@2 m tD

2 m

A
3

+ O@AD4  	t

−
Sin@m tD

m2
+

K 3 m t2 +
3 3 Cos@2 m tD

2 m
−

3 Sin@2 m tD
2 m

O A
8 m

+

K−
3 3 Cos@m tD

m
+

5 Cos@3 m tD
3 m

−
15 Sin@m tD

m
+

5 Sin@3 m tD
3 m

O A2
16 m

+

K9 3 m t2 +
15 3 Cos@2 m tD

2 m
−

25 Sin@2 m tD
2 m

+
35 Sin@4 m tD

4 m
O A3

64 m
+ O@AD4 ê.

t → 0

3 3 A

16 m2
+

5

3 m

−
3 3

m
A
2

16 m
+
15 3 A

3

128 m2
+ O@AD4

 

�2������%)���0,������ (5.37) ���������,�%���� !��	���-!�"��������� (5.71) 
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.��*��� 7 

· −
1

4
G0 c2 + c1 t −

Cos@m tD
m2

+
3

4
3 G0 d2 + d1 t −

Sin@m tD
m2

+

3 3 G0 K 3 m t2 +
3 3 Cos@2 m tD

2 m
−

3 Sin@2 m tD
2 m

O
32 m

−

G0 Km t2 −
3 Cos@2 m tD

2 m
−

3 3 Sin@2 m tD
2 m

O
32 m

A +

3 3 G0 K−
3 3 Cos@m tD

m
+

5 Cos@3 m tD
3 m

−
15 Sin@m tD

m
+

5 Sin@3 m tD
3 m

O
64 m

+

G0 K 9 Cos@m tD
m

−
5 Cos@3 m tD

3 m
+

3 3 Sin@m tD
m

+
5 Sin@3 m tD

3 m
O

64 m
A
2

+

−

G0 K9 m t2 −
5 Cos@2 m tD

2 m
+

35 Cos@4 m tD
4 m

−
15 3 Sin@2 m tD

2 m
O

256 m
+

3 3 G0 K9 3 m t2 +
15 3 Cos@2 m tD

2 m
−

25 Sin@2 m tD
2 m

+
35 Sin@4 m tD

4 m
O

256 m
A
3

+ O@AD4  	t

1

4
G0 −c2 t −

c1 t2

2
+
3

2
3 t H2 d2 + d1 tL +

3 3 Cos@m tD
m3

+
Sin@m tD

m3
+

G0 K 8 m2 t3

3
+

3 3 Cos@2 m tD
2 m

+
15 Sin@2 m tD

2 m
O A

32 m2
+

G0 K 63 3 Cos@m tD
m

−
10 Cos@3 m tD

3 m
−

27 Sin@m tD
m

+
20 Sin@3 m tD

3 m
O A2

96 m2
+

G0 K96 m2 t3 +
60 3 Cos@2 m tD

m
−

105 3 Cos@4 m tD
4 m

+
140 Sin@2 m tD

m
−

35 Sin@4 m tD
4 m

O A3
1024 m2

+O@AD4 ê.
t → 0

3 3 G0

4 m3
+
3 3 G0 A

64 m3
+

G0 −
10

3 m

+
63 3

m
A
2

96 m2
+
135 3 G0 A

3

4096 m3
+O@AD4

 

�2������%)���0,������ (5.50) ���������,�%���� !��	���-!�"��������� (5.84) 
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.��*��� 8 

· 1

4
G0 −c2 t −

c1 t2

2
+
3

2
3 t H2 d2 + d1 tL +

3 3 Cos@m tD
m3

+
Sin@m tD

m3
+

G0 K 8 m2 t3

3
+

3 3 Cos@2 m tD
2 m

+
15 Sin@2 m tD

2 m
O A

32 m2
+

G0 K 63 3 Cos@m tD
m

−
10 Cos@3 m tD

3 m
−

27 Sin@m tD
m

+
20 Sin@3 m tD

3 m
O A2

96 m2
+

G0 K96 m2 t3 +
60 3 Cos@2 m tD

m
−

105 3 Cos@4 m tD
4 m

+
140 Sin@2 m tD

m
−

35 Sin@4 m tD
4 m

O A3
1024 m2

+O@AD4  

	t

G0 KJ−c2 + 3 3 d2N m3 t2 + 1

3
J−c1 + 3 3 d1N m3 t3 −

2 Cos@m tD
m

+
6 3 Sin@m tD

m
O

8 m3
+

G0 K4 m3 t4 −
45 Cos@2 m tD

2 m
+

9 3 Sin@2 m tD
2 m

O A
192 m3

+

G0 K 81 Cos@m tD
m

−
20 Cos@3 m tD

3 m
+

189 3 Sin@m tD
m

−
10 Sin@3 m tD

3 m
O A2

288 m3
+

G0 K96 m3 t4 −
280 Cos@2 m tD

m
+

35 Cos@4 m tD
4 m

+
120 3 Sin@2 m tD

m
−

105 3 Sin@4 m tD
4 m

O A3
4096 m3

+O@AD4 ê.
t → 0

−
G0

4 m4
−
15 G0 A

128 m4
+
223 G0 A

2

864 m4
−
1085 G0 A

3

16 384 m4
+ O@AD4

 

�2������%)���0,������ (5.51) ���������,�%���� !��	���-!�"��������� (5.85) 
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.��*��� 9 

· 3

4
3 G0 c2+ c1 t −

Cos@m tD
m2

−
5

4
G0 d2+ d1 t −

Sin@m tD
m2

+

−

5 G0 K 3 m t2 +
3 3 Cos@2 m tD

2 m
−

3 Sin@2 m tD
2 m

O
32 m

+

3 3 G0 Km t2 −
3 Cos@2 m tD

2 m
−

3 3 Sin@2 m tD
2 m

O
32 m

A+

−

5 G0 K−
3 3 Cos@m tD

m
+

5 Cos@3 m tD
3 m

−
15 Sin@m tD

m
+

5 Sin@3 m tD
3 m

O
64 m

−

3 3 G0 K 9 Cos@m tD
m

−
5 Cos@3 m tD

3 m
+

3 3 Sin@m tD
m

+
5 Sin@3 m tD

3 m
O

64 m
A2 +

3 3 G0 K9 m t2 −
5 Cos@2 m tD

2 m
+

35 Cos@4 m tD
4 m

−
15 3 Sin@2 m tD

2 m
O

256 m
−

5 G0 K9 3 m t2 +
15 3 Cos@2 m tD

2 m
−

25 Sin@2 m tD
2 m

+
35 Sin@4 m tD

4 m
O

256 m
A
3

+ O@AD4  	t

1

4
G0

3

2
3 t H2 c2+ c1 tL −

5

2
t H2 d2 + d1 tL−

5 Cos@m tD
m3

−
3 3 Sin@m tD

m3
−

KG0 K m2 t3

3
−

3 Cos@2 m tD
2 m

+
3 3 Sin@2 m tD

m
OO A

16 m2
−

KG0 K 72 Cos@m tD
m

−
35 Cos@3 m tD

3 m
+

18 3 Sin@m tD
m

+
5 Sin@3 m tD

3 m
OO A2

96 m2
−

1

1024 m2
 

G0 24 3 m2 t3 −
10 Cos@2 m tD

m
−
175 Cos@4 m tD

4 m
+
90 3 Sin@2 m tD

m
−

105 3 Sin@4 m tD
4 m

A3 + O@AD4 ê. t → 0

−
5 G0

4 m3
+
3 G0 A

32 m3
−
181 G0 A

2

288 m3
+
215 G0 A

3

4096 m3
+ O@AD4

 

�2������%)���0,������ (5.52) ���������,�%���� !��	���-!�"��������� (5.86) 
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.��*��� 10 

· 1

4
G0

3

2
3 t H2 c2+ c1 tL −

5

2
t H2 d2 + d1 tL−

5 Cos@m tD
m3

−

3 3 Sin@m tD
m3

−

KG0 K m2 t3

3
−

3 Cos@2 m tD
2 m

+
3 3 Sin@2 m tD

m
OO A

16 m2
−

KG0 K 72 Cos@m tD
m

−
35 Cos@3 m tD

3 m
+

18 3 Sin@m tD
m

+
5 Sin@3 m tD

3 m
OO A2

96 m2
−

1

1024 m2
 

G0 24 3 m
2
t
3

−
10 Cos@2 m tD

m
−
175 Cos@4 m tD

4 m
+
90 3 Sin@2 m tD

m
−

105 3 Sin@4 m tD
4 m

A3 + O@AD4  	t

−
1

8 m3
 

G0 J−3 3 c2 + 5 d2N m3 t2 +
1

3
J−3 3 c1 + 5 d1N m3 t3 −

6 3 Cos@m tD
m

+
10 Sin@m tD

m
−

KG0 K 1

2
3 m3 t4 −

9 3 Cos@2 m tD
m

−
9 Sin@2 m tD

2 m
OO A

96 m3
−

KG0 K−
54 3 Cos@m tD

m
−

5 Cos@3 m tD
3 m

+
216 Sin@m tD

m
−

35 Sin@3 m tD
3 m

OO A2
288 m3

+

1

4096 m3
 

G0 −24 3 m3 t4 +
180 3 Cos@2 m tD

m
−
105 3 Cos@4 m tD

4 m
+

20 Sin@2 m tD
m

+
175 Sin@4 m tD

4 m
A3 + O@AD4 ê. t → 0

3 3 G0

4 m4
+
3 3 G0 A

32 m4
−

G0 −
5

3 m

−
54 3

m
A
2

288 m3
+
615 3 G0 A

3

16384 m4
+O@AD4

 

�2������%)���0,������ (5.53) ���������,�%���� !��	���-!�"��������� (5.87) 
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